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f General Instructions to candidates : \
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2'2 hrs.

® You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’,

® Use the “cool-off time’ to get familiar with questions and to plan your answers.
¢ Read questions carefully before answering.
® All questions are compulsory and only intemal choice is allowed.

® When you select a question, all the sub-questions must be answered from the same
question itself. .

® Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.

® Give equations wherever necessary.
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PART -1
ACCOUNTING

1. Debentures redeemed but not claimed appear in the Balance Sheet of a Cbmpa.ny under
the head :

25061 MEIBIW®)e o)  aléMo mm&ggommgmow @& Sa|@ODISTG @D
snioeidmd algied aB@ melnsngied :oarieno ?

(a) Secured Loans
(b) Unsecured Loans
(c) Current Liabilities

(d) Contingent Liabilities : . : 4]

2. The most important Clause in the Memorandum of Association of a Company is
 H2eamI09eMuo §9all @REIVIMIGCRRIMIOL (aIWIMAeS EGITS nGos ?

(a) Name Clause

(b) Domicile Clause

(¢} Object Clause

(d) Liability Clause ' . (D
3. Death of a Partner leads to the Paftnership firm.
B0) wl@:08lW)Hs ARMo TUNJaIMODIHG coidiass molonyam;.

(a) Dissolution

(b) Amalgamation

(¢) Reconstitution _ _

(d) Reconstruction (1)

4. What are the adjustments required in accounts on retirement of a Partner from the
firm ? _ (2)

B0) aiod], waDGlom  qUOdaNETI®  ®lame  allclemm) cn_lo.ﬁ;gcauodﬁ
ERSOVBAEIE QIGIETMENRYIN BOQEERUD AfOHINEPODN flos1H: @100 D:.

5. What are the points of differences between a Simple Debenture and a Mortgage

Debenture 7 . 2)
TLOWOREM  &Sajidals, caadSensl  &Sg@age ®alengss  AYmLOMLERA
aBO®goo ¥ '
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6. On 1* January 2005, AVT Ltd., has an outstanding liability of Rs. 5000, 12% debentures
of Rs. 100 each redeemable at the option of the company by 'drawing lots at par or buy
purchasing in the open market. '

~ During the year 2005, it decided to redeem Rs. '1,00,000 debentures from the open
market at Rs. 98 each. Write up necessary Journal Entries in the books of the company. (2)

2005 mmyardl 1-a5 AVT Lid.-ea} 100 @jo) qyeuaileiass 5000, 12% &Sqaf@aB89sS
IOALI®ME. STUMIES @D HSaU@EBE KM MOjesIeNHSEDO RO
Dalo®) HETUOgOI@ Moo BaNlrIdesnd, QIIEBIM @RMBM] DN, _
2005-@8 SHoIm] 9ni0om) HEMIOSOMIGE MIanlo 98 @jat (@00 1,00,000 o)as
Marallerss &sSqj@aBd @Idles apaEl. DOImoawynow GRAMME ag)ad(s)
g 9D} :

7. The following is the Balance Sheet of Sony and Shilpa, sharing profits and losses
equally as on 31* December, 2005.

emoamiw)o,  WiLia@le el amoglegow Mumdalmemled 2005 wlmuosnid,
31-sar mIoes ali®o a®:Is)amIGlen;am,.

" Balance Sheet

Liabilities | Rs. Assets | Rs,
Creditors 16,000 | Cashin Hand | 16,500
Bank Loan 15,000 | Debtors 12,500
Capitals : Stock 15,000

Sony 10,000 | Furniture 6,000
Shilpa 9,000
50,000 ' 50,000

The firm is dissolved on 31% December, 2005. Debtors realised Rs. 11,000; stock
realised Rs. 14,000; and furniture was sold for Rs. 9,000. The creditors were paid at a
discount of Rs. 1,500. The expenses of realisation amounted to Rs. 400. Prepare
Realisation account to find profit/loss. {3)

0D qundaimo 2005 awskrvoerud 31-07 @RSy angoad ®lo)@omla)). @S] olj§@3
qaoom  sawegdamilad @ilmy  11,000-0)n@)o, oquoss ailg 14,000 o})akw)o,
andemia)d aflg 9,000 ouiwile edla). emailegdmilal 1,500 oo @)oallcl
@AUOYDS GHEMEY @1da). OlwesLIsTLad alleiai 400 o)l ClWEEIGTVAHMD
@ISHDVNE YOOI LI08 Malgo HETEailS1Hn):.
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8 X-and Y are partners in a firm sharing profits and losses in the ratio of 2 : 1.
The balance in their Capital and Current accounts as on 1-4-2004 were as under :

X-90 Y-80 almoglagow runoaImamias 2 ¢ 1 Af)M @RMAGOMIES Graud 210e
Mayo almOUBH0)aN). 1-4-2004 a1 DAIGYES BYOallgEd @IEODME audss]@)o,
S0 @RIDDE MUOSEKY}0 H®HISATIG] NI},

X Y

Capital account ' 40,000 30,000
Current account (Cr.) 9,000 7,000

The Partnership Deed provided that ‘X’ is to be paid a salary @ Rs. 500 per
month and ‘Y’ is to be given a Commission of Rs. 4,000 for a year. Interest on capital is
to be allowed @ 8% p.a. The drawings of ‘X’ & ‘Y’ for the year were Rs. 4,000 and
Rs. 2,000 respectively. Interest on drawings for ‘X’ was Rs. 125 and on ‘Y’ was Rs. 75.
The net profit of the year before making these adjustments were Rs. 18,100.

Prepare Profit & Loss Appropriation Account and Partner’s Current Accounts. {4)

f00I0)9S alB0EIOM HEIB (aldkoRo XA (ailadmuo 500 @} aflMo wmugal)o,

Y-das &) adado 4,000 0 SHmlaumle e1€lod)o. ABOSa810S  BeKLMm

MDD (ai@lGato 8% Mleee@d alelioded @rGaomeiend. X-go, Y-2o

®mMadae ON3(Hoe 4,000 o)aiwio, 2,000 oyaimio alme TunoIM@RIE Mlanie -
afldalells)). oo alellerwal X, 125 opaim)o, Y, 75 0)aitlo TUOdaING@OYID

‘meimimo. mBEied  alomwlcienym @D QIGa020aBudes @)mionl

qunonimamleng enes 18,100 a)alwosm). '

Glaldarly @R GRS  @RE(NIIANCWaHM  @RSHDEEo, Bl 6s HOWG
- BRANDENBI0 MQYONIHN ).

9.  The firm of Ram Gopal Enterprises was made up of :

Capital (Rs.) | Share of Profit
Ramchandra 20,000 3/5
Gopal 10,000 1/5
Krishna 10,000 1/5

The Partnership Deed provided that
(a) Interest at 5% was to be allowed to Partners” Capital.
{(b) A policy of Rs. 15,000 was to be taken out on the joint lives of the Partners.

{c) Upon the death of a Partner, the deceased Partner’s goodwill was to be valued at
an amount equal to one year’s purchase of the average of the net profits for three
years immediately preceding the date of death.

(d) Ramachandra died on 2™ January 2006, his 'drawings for the previous year
amounting to Rs. 4,200. The trading results of the last three years ending
31" December, 2005 were, profits Rs. 8,750, loss 2,250 and profit Rs. 6,000.

Prepare an account showing the amount payable to the representatives of
Ramachandra as on the date of death. : %)
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@20 BYAIEB af)fdasiaicvmiload alaiesBud @INY HB:05;e1GlenaM).

TS T ene aladimo
QOB 2K MY 20,000 3/5
GUOAIN®E 10,000 1/5
Ehyatierm 10,000 ' /5

AlEISITM HOIB (aldhiR0 : _
(@  agep almogle:dan)e BEIm MleeMaiemlal 5% aefive meis)o.

(b) 15,000 oj@es o) sl eoclad GaoglNl e al@Fl:WB60)0
GolaNE] af)S)d0)o.

(€) 80 wsglwes 206m TVAGED WLANTS GeMENOENIME) MULdaINEING
SFaTm 3 HSHILIFBEINRI VIR LIBEMINMR BB VEMIMAG:)T).

(d) oozaimo 2006 wmomyudl 207 adly)).  @eegaoamlend  2jdaidaueom
(woaflodfal 4,200 @)alwoen’. avlavoaud 31, 2005 @mwrairuamlen;on aidaHo
9U89q|esW)BA 3 OH:LIOOM £I08 Mayfo - 8,750 o)al 4080, 2,250 @)at Malo,
6,000 @)nt eI06o.

DaHEIM Ao MIanje E0EABEN ERMIMEIVHIBl:WBES MEl®:IMmBs
O HEBnNSTe0)0. : '

10. A and B were in Partnership and agreed to dissolve. The assets realised Rs. 75,000, The
liabilities were as follows :

Sundry Creditors Rs. 45,000; Loan from A Rs. 20,000; A’s Capital Rs. 10,000 and B’s
Capital Rs. 15,000, They shared profits and losses in portions of A 3/4 and B 1/4.
Show by means of accounts how the cash realised should be distributed. (5

A-©@jo B-wjo al:i@le800 TLNJaIMe @RSafalgoM mlojaomly)). aRmiee:ud afig
75,000 @}l &lgl. quOdAIMEDINGG RUSALIMGWE A 3OS Ba13H6)aD).

olBbalegdms 45,000 o)al, A-wil@d ailan ceed — 20,000 @)nl, A-)0s dioallgad
10,000 o)as, B-@}0s @30aflgad 15,000 oni. A-®)o, B-@po 3/4, 1/4 ogm
@MAOMOMIW £I08 Maldo alEOAUTHNAN). _
quNoaIN@BIMN] e18la] @)t AfEROM  AlAUTEHN)AMOUM  WRADDVENE  UBa)
hOETTH 96Y) .

11. What is Goodwill ? Mention some important factors affecting Goodwill of Business ?
How will you treat premium of goodwill brought in by the new partner at the time of
admission ? (State any four methods). (6)

apmoen)  myasalad T »mylallellom  MDWIGH)M  (alWIMEalS "RISHEERUD
af)OMMI00 | afODONES alwaoe’ a0} alelw oi@ogl sadmeiueym wylailod -
HEMBH  alrSmaomIad  0leeddal oagmal 7 (agommlage 4 oloiled
UL ADAIBN) .} '
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12. (a) A Ltd. issued 10,000 shares of Rs. 100 each at Rs. 120 payable as follows :
Rs. 25 on application | |
Rs. 45 on allotment
~ Rs. 20 on first call
Rs. 30 on final call
9,000 shares were applied for and allotted. All moneys were received
with the exception of first and final call on 200 shares held by Shyam. These

shares were forfeited. Give Journal Entries, Cash Book and Company’s Balance -
~ Sheet. (8)

of eﬂm‘lgaﬁ 100 o)1 Mmaaleimss 10,000 639a0@1:0d 120 @)al (SH2(akHI00
@289 al0@)am oloilod aneiaaymm].

25 @}al @RGaIGY a0l
45 @a) @RERIFe0M” aalmd
20 Q)i aDY HOU3
30 @)a! HHM@ S
9,000 ©MMRO)SHPOS BRGIGURHUE  eIElsn)dh@e,  GRI@®WC
HAUVO)HUE GREEIG OalQHD)o pald@m). 200 ©aHDO)HUB QIR WA)J0
anqy  OR@  09a0mEE @03 aleMo meigyale. sl Al
HAHDO)HBPSW)o alMo EIElaf). @D 200 HaHDOYBUB SHMUM] HRO®G].
polceIdod myniwyncw cedsmol aB S0, B30aH NIBOY0, HMUMIWHS
MIDEST Al@Ale YOOI S,

OR

(b) ABU Lud., a Public Company was registered with an Authorised Capital of
Rs. 2,00,000 divided into 20,000 Equity Shares of Rs. 10 each. It offered to public
10,000 shares of Rs. 10 each. :

(i) Rs. 2.50 per share payable on application.
(i) Rs. 2.50 per share payable on allotment.
(iii) First call on @ Rs. 2.50 per share was made.
Mr. ‘X’ holding 100 shares did not pay the first call.
(iv) A final call was made at Rs. 2.50 per share.

(v) - All the shareholders, except Mr. X' who was holding 100 shares, paid up
the calls on due date.

(vi) 100 shares of Mr X’ were forfeited and re-issued at Rs. 8 per share for cash.

Make Journal Entries to record the above transactions in the books of the
company and prepare Bank account and Balance Sheet of the company.
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masgg&‘lm&

@peny)  efiglgal  opan  asnights  equml  10-0p1  alleioyss 20,000
a%a0dleegos; @8] oslqud ead®) 10,000 @caodla®d 10 o) aflel

- [ald000 HatoMBRMa e allelenoad Houml @10)emla)).

(i) 2 o)) 50 9OKTL @REAINHO anlmS
(i) 2 oy 50 9oL @REERFHAAF" anlmd

(i) @mm anqy HOWB 2 @l 50 @9ainy (ald0o0o aflglen)eoie 100
acnndled apasle ‘X' alod  af)gooidle  angy &8 aleMo
MEID) SO0 HalD).

(iv) o9anm@d 30Ul 2 ®)at 50 OOAITL (aAlB000 MSHW].

(v} 100 @oa0dle:xd aoaElm X  a¥led af)eioaidje 89a0mm &0 aem

melssl.

(i} X-00 100 OB HEIBPDBGHW)0, DT OaUWOHW 8  Ofnl

(1000 OF-fDaHY) alGdHW)o Oalai@).

molleaidss @RI CRAMT afM(S] af)PIME:WIo, TUIE: BRAENDMNE)0,
&M MINGS] a @00 OGI0IDN}BHWI0 HatG)d.
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PART -1I
ANALYSIS OF FINANCIAL STATEMENTS

1. One of the tools used for financial analysis is also known as 100 % statement. Which is
that statement ? _ '
aipl IION@E  aslmoadausod apmoehavia msoma@ieel 8 aloew 100%
'eg@gﬁamn@" af)aMm}o AlOIOYETE. AB®OeT B sqgg“s;mag“ ?
(a) Common size statement
(b) Comparative statement
(c) Trend analysis
(d) Cash flow statement _ (1)

2. According to the prescribed order of assets under Schedule VI Part-1 assets
should be shown first of all. : '

saual mlose Vi-o S} B alo@g-1 (aldh000 AT HUD (BLnl:IBo 06
a9 EmMI0ud @Ry MUl ARYBY0 S06MIHREMO.

(a) Current assets
(b) Fixed assets

(c) Investment

(d) Loans and Advances 1)

3. You are asked to prepare a Fund Flow statement. The balancing figure in the statement
equate with (1)
mrlemegos aneé afo@d gl MgOIBNQUID @YADY H|SIA- aDEME  allG@O ' §

2l @HS Ay oIV A }odn]S] G2 IABHOM MEIY® QAUAHI0 ?
(a) Fund from operation

(b) Increase or Decrease in working capital

(c) Cash from operation

(d) None of the above

4 A firm’s cost of goods sold is Rs. 1,00,000. Their opening and closing stock are
‘Rs. 8,000 and Rs. 12,000 respectively. What is their inventory turnover ratio ? Q)

Gy Muodalmomlen 3oy 69ad s srooudad 1,00,000 @jal@osms. @RAIMNS
®)SEOTDIRN0 ABAITLINIH NN BB aqyoes 8,000 @alo, 12,000 @)al@)@06TT.
@RAIV)OS pdeaiddl esend aoad B0GAULD dheNB)nllslenid.
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5. Give the main headings undér which the following items will be shown in Company’s
Balance Sheet as per Schedule VI Part-I of Companies’ Act, 1956. 3)

1956 oS apg (aauwyu VI, al0d5-1 (w1000 mo0e mmmig)ss MEBBHS
SMUMloes sniveicdad MIIAB @ 06moanmm eI HHI08 DU3ODHBH1B6N) B>

@ Bills Payable
(b) - Sundry Debtors
(¢} Profit & Loss Account Debit Balance

6. The following statement gives the following ratios of two companies ‘A’ Ltd., and
‘B’ Ltd. respectively along with industry average. Give in few words, your conclusion

after examining these ratios. 3)
®oe¢ @amlalenan | agle: avaVeMBe  amoas, SHNUDIHBIOS  GOBaHYINV)o,
ajumoemlen . weowdlw)e Me1Ba15) mianBges ®lo)aomesaul
EOLIBII) TN
Particulars Industry Average | ‘A’ Ltd. ‘B’ Ltd.

Current Ratio 1.8 1.09 2.03

Gross Profit Ratio 25 % 20 % 30 %

Stock Turnover Ratio 4 times 5.71 times | 3.5 times

7. The income statement of a coinpany is given below. Comment on the performance of
the company during the year 2006 by preparing a Comparative Statement, (5)

@09 omldlomm  HuMlees  UE@ID  aigle  GMoee] @Ry SHmunloes
Lalud@mmo &0) Moomay nIFlBWIOS TVaNIWETMINS BYIOIEN)d:.

2005 2006

Rs. Rs.
Sales | 1,00,000  1,40,000
Cost of goods sold 80,000 1,00,000
Office expenses 4,000 8,000
Selling expenses 2,000 3,000
Interest paid 2,000 4,000

G-3049-AFS . 9 P.T.O.




8. Ram & Company supplies you the following information regarding the year ended

31" December, 2006. 5)
0% & &auml 31-12-2006-0e1 ailaioasaos Ol eI e pliod
Rst
Cash sales 80,000 Gross profit ratio is 25 %

Credit sales 2,00,000
Returns inward 16,000
Opening stock 25,000
Closing stock 30,000
Help them for finding out inventory turmover ratio.

DROAFO] ased 200U @OGAL0 6Nz llSlon)om arase L0009 b

9. From the following summarised Cash Account of Anil Ltd. 2006, prepare Cash Flow
- Statement for the year ended 31% December, 2006 in accordance with Accounting
Standards.

Gplelol @cm’ko’lmgcm @mlad eildlgaslond @ioai arsemad emossl 31-12-2006
oLl &h}daH e emdean” araoverglsad qromdaavdadmd (21000 DGIOIHE .

Summary Cash A/c for the year ended 31-12-2006

Receipts "Rs. Payments Rs.

Balance as on 1-1-2006 300 | Payment to Suppliers 20,000
Issue of Equity Shares 3,000 Purchase of Fixed Assets 2,000
Receipts from customers 28,000 | Overhead Expenses 2,000
Sale of Fixed Assets 1,000 | Wages and Salaries 1,000
Taxation 2,500

Dividend 500

Repayment of Bank loan 3,000

_ Balance as on 31-12-2006 1,500

32,500 32,500 (5)

10.  On the basis of the following information, calculate :
(a) Gross profit ratio
(b) Working capital ratio
{c) Debt equity ratio
®260% mamlalagan ailuesmslcd alam)o
(a) owoay Glaldadly GOGaYD
)  (nadomm ajeiwm aoemsyo
(©) wenig @il eocanyo
DWEDVA £RIn NS00 5.

Net Sales 30,00,000 | Cost of goods sold 20,00,000

Current Assets 6,00,000 | Current liabilities 2,00,000

Paid up capital 5,00,000 | Debentures - 2,50,000 _

Loan 1,25,000 (6)
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11. (a) From the following Balance Sheet of a Company as on 31* March, 2006 you are
required to prepare Schedule of changes in Working Capital and Fund. Flow
Statement.

31-3-2006 ee SNUMDVOS MOOPAOWIIN UIRIBTS 1§ BMods] aatsan) ol
800l  ealmnd @ad adeslodt @ilaflgene, «neéE  ade@o  GqREEo
DGOOISO .

‘ Balance Sheet _

Liabilities 2005 2006 Assets 2005 2006
Share capital 1,00,000 | 1,50,000 } Non-current Assets | 1,00,000 | 2,00,000
Profit & Loss A/c 40,000 [ 60,000 | Current Assets 1,30,000 | 1,40,000
Provision for Discount on issue
Taxation 20,000 | 30,000 | of shares - 5,000
Proposed Dividend 10,000 | 15,000
Creditors 25,000 ; 37,500
Bills Payabie 15,000 | 22,500
Outstanding Expenses s 20,000 30,00&

2,30,000 | 3,45,000 2,30,000 | 3,45,000

Additional information i8 given below
@ SIMeNnUIfias ailoasud ®oay ammldleniany
(1) Tax paid during 2005 — Rs. 25,000.
(2) Dividend paid during 2005 — Rs. 10,000.
' OR/ané g1mlsd

®

(b) From the following Balance Sheet of Chitra Industries, prepare a Cash flow
Statement. Show your working clearly. '
2l @Bdwmislnvleng auoaidml a1 cmoesl @)0mi afe8d  aigls
QTN ). MIFEBUE OalTD® (HVWBHWB ULEDDIW] G066,
. Balance Sheet
Liabilities 31-3-2005 | 31-3-2006 Assets 31-3-2005 | 31-3-2006
Rs. . Rs. Rs. Rs.
Share Capital 60,000 55,000 | Goodwill 30,0006 25,000
Profit & Loss 34,000 26,000 | Plant & 60,000 b 50,000
Appropriation A/c Machinery '.
Other Current 10,000 9,000
Assets
Current Liabilities 12,000 13,000 | Cash 6,000 10,000
1,06,000 94,000 1,06,000 94,000

Additional information :
@rWla:0001 axmloles)m alloioaBpad -

(1) Depreciation -of Rs. 20,000 on Plant & Machinery was charged to
Profit & Loss A/c. '
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